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90 Fiy EEB RiEMELHE INESERF DRyt 10m94 14
94 FE = REME EH=E INESERZF ANy 13m84 11
101 mE uhnY RORMkE L= INBSFERF ORI 17m03 7
102 Hil RORMkE L= INESFERF ORI 25m98 3
103 T ¥ RiEMELHE INESERF A% 19m30 5
104 sl EAR RiEmkE EHE INESERF DNyt 16m44 8
105 TH E RiEMELHE INESFERF ORI 26m57 2
107 HE i RiRMkE EH=E INESFERF IRy 33m66 1
237 = IDE EHEEIST INESERF A% 18mb58 6
238 JIEE F2hn EHEEIST INESERF A% 22m28 4
239 s #LEF EFHEEIST INESFERF NI 15m80 10
240 &% oY EHELESST INESFERF IRy 12m06 13
241 hE ER EHEEHSD INESFERF IRy 15m84 9
243 Wik HE EHELIST INESFERF IRy 12m07 12




